HITHER

[MTEA R [8f1:m)
A|B| IEH XHRAEF X HEEE
6] 1| =& |[EXHIKEMRAN70AFESXALVICHE (BIHNE) 8,000
6] 1| =E |[(—#) RBEERNEERRBISORFELESHESR EIXE) 15,000
6| 7| =B |FHRO—42U—H5TJEI65AERSRM(GIME) 20,000
6| 12| =& BHRARESR SN7EERB= 10,000
6| 15| #IER |TR#MFESER AERHAE 16,500
6| 16| =& [FREMJICARIUTATIMEHAEHRBRRBRR (BIFE) 8,000
6| 18| HIER |RMRFLELR MARHEE 11,000
6| 20| =& |FM7TEEREBBEKATATTIRATLIN—TKRE 10,000
6| 26| =B |SH7EELH ZMBFEHHREHTIZERBERTRR 8,000
6|28 =& |[(LB)RAHRAR—YBLFBEEBHRE 10,000

116,500




